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f#(Nash bargaining solution)
Xy = const.
ax+ by =c
\ O — by

HEERS




ax+ by =c
ax = by

VAL2h NSO

VA1) = {(x,y) € R*| x < 0},
V{2 = {(x,y) € R*|y < 0}



NTU Shapley Value

e Exercise: Compute and depict the NTU
Shapley Value of the following game:

V({1,2) = {(x,y) € Rx <0, y < 1)

V({1}) = {(x,y) € R?
V({2) = {(x,y) € R

x < 0}
y <0}



Answer:. NTU Shapley Value

V({1,2}) ={(x,y) e R*x <0, y < 1}

1,2
V1) = {(x,y) € R*|x < 0}
V({2) = {(x,y) € R*ly < 0)

A=(1,0)
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A=y 42) =1, 1)
(v = (¢(v1)2 =0
A1 -0 = (d(vp));

Ay - 1 = (p(v2))2
0,1) € V{1, 2}) : NTU value




